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Candidates are advised that a reasonable standard of handwriting legibility is expected by the
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AT THE END OF THE EXAMINATION

Hand in BOTH your answer scripts and this question paper to the supervisor.



Q.1

AS CA3 1105

Y our employer, an insurance company is developing both a single premium with-profits bond and a
single premium unit-linked bond (with no guarantees). Both bonds have a fixed term of 5 years.

Under the with-profits product the single premium purchases a sum assured equa to the single
premium and participates in simple reversionary bonus (there are no terminal bonuses). The unit-
linked product has a 1.75% annual management charge (there are no other charges and the payment
on death is simply the fund value).

Y our CEO has been shown certain illustrated maturity values for a single premium of 100,000 at the
standard industry investment rates of 6% and 10% as follows:

6% 10%
With-profits product 120,000 145,000
Unit- linked product 123,134 148,641

Your CEO is puzzled as the illustrated maturity value for the unit-linked product is higher in both
cases and fails to understand why anyone would purchase the with-profits product.

Draft a suitable reply in 400 — 500 words explaining the main features of the products covering the
above illustrated values and the death payouts. Your answer should also give the merits of the with
profits product.

[60]
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Q.2)

AS CA3 1105

Y our friend has read the following note from a friend who works in the actuarial department of alife
insurer and is unable to understand the concepts explained

“ Net present value

A common measure used in assessing the profitability of a proposed life insurance product is the net
present value of the profit stream.

The basic approach is to project the cash flows under the contract using best estimate assumptions
with regard to the future elements of experience. The key parts of the experience includes
investment return, mortality and expenses. The resultant cash flows to the shareholder are then
discounted.

Under the net present value approach the profits emerging from the product are discounted at a risk
discount rate to arrive at the profitability. The risk discount rate is greater than the assumed
investment return typically to take account of the risks inherent in profit emergence. Risks would
typically include the fact that key assumptions may vary in an adverse manner in reality from that
assumed in carrying out the net present value calculation.

The typical profit criterion is to stipulate that the net present value computed above is in excess of a
certain benchmark with popular benchmarks being a percentage of premium or a percentage of
commission.”

Redraft the note in about 300-400 words to make it suitable for sending it to your friend who is not
conversant with financia matters. You can assume that the information contained in the note is

correct and that no further information is required.
[40]
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